Match the following irrigation projects
with districts and select your answer
using the code given below :
(a) BankliDam (i) Pratapgarh
(b) Som-Kamia (ii) Sawai

Amba M
(¢) Morel Dam (u1) Jalore

(d) Jakham Dam (iv g
i o S e o S

T e s R Ry

I I 51 w57 S - =
TR e

(@) ¥ Fcitse () wawTe

(b) m-=men (i) TETE AT
3=

() TREEE (i) WER

(d) STEmsEE (iy) IR

Codes/ %2 : |

(@ (®) () @
(A) Gi) (v) (D) @)
(B) (iii) (i) (1) (v)
(©) Gv) (@) (i) 3ii)
D) () (@v) (i) (i)

In which of the following area the

Dhundhari  language is  spoken
i ly ?

é):;mslrif:; 4 ~(B) Udaipur .

(C) Jaipur _ (D) Shekhawati

e & & P @1 a9 1 S

A AR ? -

gw B

ing to Economic Review (207.
r;i;ngon 31 March, 2020, State
:Iz‘Il')g’hwa}’S total road length in Rajasthan

1 imate
SES 31 T, 2020 T Treeyy
% ST oy o e &

I T 0km (B) 18200k,
A) 1752 km (D) 15621'251(111
©) 165% |

Acco

4

Ml the crogs il B o e
Qfge Rice 1. %ijzzl 1, Sonalika,

(b) Wheat 2. C 235, H 208, G 130

) Cne 4 ST Pgesfiiil Devitej
‘ég)acnamz:a;sgsa T L
E)a:ﬁ?ﬁmlﬁ&mﬁ&qm, D-134

~(® ¥} 2.C235,H208,G 130
(c) 1 3. ¥, 221
d) sIw 4. Psmgﬁmtédﬁa
Codesl?: \ )
@ ® © @
A 2 3 4 1
B)3 1 2 4
1 2 3 4
D 4 3 2 1

Which of the following places are related
with zinc mines ?

1. Mochia 2. Dingor 3. Balaria
4. Dadiya 5. Zawar mala

Choose the correct answer from the given

code :
(A) 1,3ands B) 1,2and3
(D) 2,3gnd4

C) 3,4ands «
: FA BN Y I 5% wae @ wafin
?

. 3. SarEn
. 5. SR 9
ﬁqmwﬁaaﬁwmmﬁm:
(A) L33Ws  (B) 1,233
(C) 3,435 (D) 2,3 3k 4

Amrita Devi, her

hundreds of other peoples lost their lives

saving trees. In 173 King of which state
gave order to cut down trees ?

A) Jodh :

fC)) Cohittlc))lrl;arh (g)) E&Z}p o

ﬁ , ST i SERE: T

G 1 ey T S
| 31

B B oy O Y

(A) SR B

(C) Tariteme tr-\? -~



10.

11.

102

What is the length of wall of Kumbhg)
W‘aﬁmﬁmm% ? S
(A) 47 km (B) 36 km
(C) 44km (D) 30 km
After the death of Maharap,
which of the following Rajput
the ruler of Mewar ?

(A) Ka‘rna} Singh  (B) Jagat Singh
(C) Raj Sm% é(;D) Amar Sing,
HERIO ST 61 07 % Teeq oy

T TG TS T WS w7y 7 ™
(A) FUIR (B) “rTafyiz

(C) Tsifdg (D) iy

Which of the following is n_dt the prominent }
sites of Ahar-Banas culture of Rajasthan 9
(A) Ojiyana (B) Balathal

(©) Lothal (D) Gilund

1 % 3 9 1 o ) ATETE-§Tg
TRl I AR 7 T
(A) - (B) S™TIYE

(C) et (D) firgos

Which of the following river is not

included in the rivers of the Bay of
Bengal Drainage System of Rajasthan ?

Pratap,
became

(A) Luni (B) Banas. .

(C) Banganga (D) Chambal
frafafga & § @9 @ @ toem @
e ! WE qarg-aqa e J
A T 27

(A) Tt (B) s

(C) =mrTrm (D) =&

List of few Rajput rulers is given below *
1. RanaSanga 2. ChandraSen
3. Man Singh 4. Rai Singh

Choose the two who did not help the

M Is :

(Al;g?aaidz (B) 2and3

(C) 1and 4 (D) 3and 4 3.
T T W g ARG T e
1. Tom | 2. THEA

3. MY 4. TAREE

<78 & 39 @ o = L R e
gedm 8l T

(A) 132 (B) 233

() 134 (D) 3314

12.

13.

14,

(&) Barm,

fthe fOllOWlng inscription prgvides

ich© on about the genealogy of

informat!

Chauhan 785 7

Achaleshwar Inscription of Aby
Inscription of Dilwara
g) Bijoliya Inscriptioxll1 |
| Singh Epigrap . |
1(?12[ TI; 3% a RreTTora e o
(B) et & Rrerere
() fosiferen Rremrerg
(D) T T RreeE ,

Sonari variety of sheep mostly found in
which of the following districts of
Rajasthan? |

(A) Udaipur, Dungarpur, Bhilwara

(B) Jaipur, Jodhpur, Tonk

(C) Ganganagar, Bikaner, J aisalmer

(D) Jaisalmer, Bharatpur, Barmer

Which of th i
. ¢ follow istri
Rajasthap, k Ollowing districts of

order 9 © situated on international

) B °r, Bikaner, Jodhpur and Jalore
, aner, Ganganagar, Jaisalmer and
armer

Barmer and

Gang,
N g nag

Nd J or
T 3 i - ford

ar, Bharatpur, Jaisalmer



16.

A

15.  Which of the following pairs of peasant

movement and its starting year is
correct 7
(A) Shekhawati Peasant Movement - 1927
(B) Bharatpur Peasant Movement - 1938
(C) Begun Peasant Movement - 1921
mmvm' Peasant Movement -~ 1920
TR W IaE oy B & o )
Forrferfigm o & whta oft St el B
(A) D) fwea sty - 1027
(B) sy fena s 1938
(©) ! 1B -~ 1921
(D) urary fewm s - 1920

Which of the following districts of
Rajasthan have highest forest cover ?
(A) Tonk, Sikar, Ganganagar

(B) Pali, Sirohi, Barmer

(C) Baran, Chittorgarh, Udaipur
(D) Banswara, Jaisalmer, Bhilwara
TR & fsa
waifirs; waresTed R 7

(A) o, Hie,

(B) weh, ferdl, wrgit

(C) umi, faefrgng, IEEH

(D) whaarg, dawi, siearst

In Rajasthan Brown soils are found in
(A) Bharatpur (B) Bundi

(C) Barmer (D) Jaisalmer
oy & it g o et &

(A) WA A (B) g4

C) « (D) Sreera |

18. Which of the following scholars

described battle of Haldighati as ‘Battle
of Khamnaur’ ?
" (A) Gopinath Sharma
(B) Colonel Tod
(C) Badauni
(D) Abul;azl < et 3 o
e | g?ame ? ?

21.

22.

20.

19.  What is meant by ‘Seeravan’ ?

(A) Lunch of rural farmers
(B) Dance of Mewar region
(C) Clothing of rural peoples in
Dhundhar region
(1)) Breakfast of farmers in rural areas
“vore’ & v aread B 7
(A) vt fasarat &1 rome &1 Wra
(13) 9Ty W% &1 o7
() gy ara s arehorf ) Fanpw
(D) sy gt 3 Rwaredt asr wrer swrefr mven
Where is the observatory of the Indi
Weather  Department mkyxsnd innd:f:g
Rajasthan ?

(A) Jai (B) Kota

(<)) e *()m Mt. Abu
e fesmn ) dawrren ooy
wel fixen B 7

(A) waq (B)

(C) Wyt (D) HEIwE 3y

In 1817-1818, following states of

R‘ﬁpmm signed the treaty with East
India Company :

;. ’Igmul' 2. Jodhpur
X arauli 4. Udai
wmﬁmmg‘glm-
1818 §. A $x2 s wuwh & oy wfh w
m@tﬁaﬁﬁ: AR

l. 2, W

3. & 4.

Which of the following chronological
order is correct ?

Fre R T T S, ST e R 2
A 4 3 2 1
B)2 1 3 4
1 2 3 4
o3 1 2 4

Which of the following pairs is incorrect ?
Wild-life Sanctuary District

(A) Sariska - Alwar

(B) Kesarbagh ~ Dholpur

(C) Sajjangarh ~ Udaipur

D) Jamwa Ramgarh ~ Jhalawar
é(ﬂ 3 Q ae  gw er & 7

FRyoitE HAT 13;1“

(A) Tfvent -

(B) - gﬁé{

(C) TG -

(D) a1 TG ~ ATETS i



25.

Who 1§ | :
& Rajasthant architecture

‘A) Man Singh
EQ)) Maharaja Vijay Singh
(C) Rana Kumbha

(D) Rai Singh

24.

o ARGl 1 6 TS50 T S
(A) WHIE (B) WRRTSH g
(C) Tom (D) tafig
Birth place of freedom fight :
Kesari Singh Barhath is Shter Shri
(A) Kharwa (B) Mandalgarh
(C) Shahpura (D) Naseerabag
Al &S 6 T
weft 8
(A) @& (B) WvgsR
(C) egu (D) 7HraTE
Choose the incorrect pair of literary work
and its writer :
(A) Ekling — Chandra Prakash
Mahatmya Deval
(B) Chetavani Ra — Kesri Singh
Chungatia Barhath
(C) DholaMaru - KaviKallol
Ra Duha
(D) Veer Satsai — Suryamalla
Mishran
TR T 3R 34 arfieren & o
I 1 FI HIT : |
(A) R AR - IR
(B) wWEHT - EfeE e
©) TEnARTGE - FEEI
D) dRuwwE -
26. What is the present tagline of marketing

campaign of Rajas&ajn Toeurisrn ?
Kva Dikh Jaay€
%}% %(al?::]}?h Dyli To Gujaren R asthan Me
(C) Colourful Rajasthanh )
(D) Padharo Mhare Des
The Incridible State
TR e &
gt o
(A) S = \ 5
(B) %o femdl Tt o
(C) Tt Tered™ e
(D) wR) TR 30 - T
B 3t e

considered as the father of

29.

30.

31,

27.

28.

who among the following is
. v dﬂs(‘) V! .
with Bhavai folk dance of Rajastha;l?.,

A) Shgnti Devi
B) Krishna Vyas Chhanganj
(C) Mangi Bai
D) Ealku B;u
gag 8 7
() e et (B) M =10 Zoh

() i aTé (D) e, &g
Central Sheep and Wool Research
Institute is located at

(A) Ambikanagar (Avikanagar)

(B) Jaisalmer

(C) Alwar

(D) Nagal.lr . . <

31 e TF Il HFEH TEIH el R g 7
(A) TSR (HAHFAR)

(B) SaEHT

(C) IR

(D) TR

Which of the following pair is non-relevant ?
(A) Karni Mata ~ — Deshnok
(B) Jeen Mata — Jamwa Ramgarh
(C) RaniSati = — Jhunjhunu

D) Kaila Devi - Karauli

4 Y B 1 IET R 7

(A) =Toft a7 - CIED

(C) Toft gt
D)t o 5
the hybrid variety known

h“/{it}? which crop
i Kanchan as developed b
Agricultura] Research Centre,pBans“?,arat,hi:

3 e
TR 3, aferet g e

(D) Tep

climatic conditions and
oducts, Rajasthan state is
OW many Agro-climatic
AT 3PN Py searet F
L LIS Y frey Hiy-orerarg
H fovr et a2 9 -

B) 10 (C) 15

According to

agr icUl'[ural
ivideg intopr
ICgiong 9

(D) 12

-



33.

34.

35.

% Which of the following l‘CKi"“i ?0!'
() han i of Sitapari s organise
s war (B) Bagad
~ ) |
(&) Hadot (D) Marwer

e s 3 e o o 1
(A) dqrg | PO IRIR P

) mﬁma (B) wrrg #
i : (D) wrears
::?epiil Singh Shekhawat of Rajasthan has
his cosg'})aqma?hri Award in 1974 for
(A) B bution in the fielq of
(©) L'ue boltery  (B) Lac warks

lt%r;amm . (D) Ivory works

e 1974 3 wewsh grem smeq
(A)

(B) ¥rg st
(D) wrefieta st

(B) Bhangarh
(C) Bhatner fort — Bikaner

(D) Gagron fort — Jhalawar
foret ofR 373 v o1 PR & EaE
q1

TR 7
RSk
(A) A&

(B) WG

(C) wea fepem

(D) TRA feper — HITETg

' 1 is' formed on 25t
1134851‘:1:}:11 anl 951]8n.10nWh0 was the head
(Mahax"aj Pramukh) of 1t'?

(A) Maharaja of Karauli
(B) Maharav Kota
©) Girohi Maharaja

ia of Dhaulpur
(D) Mah&82 Oofor 25 7, 1948 3

T et S o ST T o 7
I | % 4 3 weroen
il 2.7

(A) N

G|

(B)
(C)
(D)

U ———

3o,

37,

38.

39.

40,

Which Lok Devta of E‘fﬂﬂﬂthﬂ" fought
With Mahmud Ghaznav

i (B) Jasnath Ji
(A) Saint Peepa Ji }i;; ‘I’J&;ﬁf b

(C) (}oﬁ%amm%wwa
T e

?
A o ey Sff
(A) gadfiqrsh  (B)
(C) hm o (D) T )
To control the expansion of eiet )
Central Arid Zone Research Ingtslgu?
(CAZRl? is established in the year 1959 a
||

& ot (3} b
m&n mer N m % m’ .

1959 & ¥l yyoeh 8 HFTEUT TETH

(m W?ﬁﬂi "

(A) (B) I&IqL

(C) e § (D) QT &

Mukhyamantri Jal Swawlamban Yojana
was commenced from :

A) 27 January, 2016

27 Februarg, 2016

(C) 30 March, 2016

D) 27 January, 2015 .
GGl SISt Ceretor AT SRy g
(A) 27 5Mat 2016 &

(B) 27 % 2016 &

(C) 307w, 2016 Q

(D) 27 5ad, 2015

Whic‘lzl Wwas the golden age of Kishangarh
e

Which Agency is finang;
Aided Project - Rajasthan Urb

Devel P an Sector
(A) JIOCLD)X] . rogm&‘a)? WB

(C) IFAD D) ADB

HTRI HETHAT- Ty ~ ST
@aﬁmmﬁmaﬁmmmﬁag
i

W) IR (B) gy o

©) ITHTH (D) @m.

L N1%]



41.

42.

43.

45.

46.

‘having c/c length of 4m and both ends are

machine flame oy
H W 3 R T 20 iy

TUET l%.Q wﬁ@%mﬁg
(A) 22 mm
(©) 33 mm

per IS 800-2007 9

800-2007 % 3rga 16 firh
o Wmﬁﬁw%ﬁ

(A) 32 mm B
(C) 33 mm ED% fllg $$
Gravity retaining wall is used for walls
upto the height of ‘
$ F918 T A it F foro

;mféra yfeemes SRy 1 sy foran st

l
(A) S5m B) 6
(C) 4m ED)) 3m

Calculate the effective length of column

fixed as per IS 800-2007. '
Hie ! g <Y o T
o/c TS 4 T R I W@;’ﬁm‘
800-2007 < 3TFAR gfﬁﬂ
A) 2 mm -
Ec§ 4 mm (D) 2.5 mm 1
|t hole

.1 be the value of 2

mtet;rﬂflor 162 mm diameter bolt & P74

IS 800-2007 ?
07 % FigEn 12 foel

)
»
B8
2

-

PART .. p (w1 ¥)

4%

48.

49

50.

51'

52,

|

T R R R |
(A) 3 N/mm?

- member, with 100

; value of Plastic modulus for

G?{% g‘;‘() @ 54.7 kg/m weight.

e 250 @ 547 ke/m a9
e W1 A & | |

B) 504.5 om?

: 43em?
éé)) ;gg 21113‘“ (D) 705 em?

A per 1S 800:2007, the value of imperfection

s x [T ML iS :
¢ for buckling class ‘b .
s 900:2007 & STIET, g &l

S
" Toreh %1 W &
e )18.76 '(€) 021 (D)049

- e i the minimum
In bolted construction, the i

i ing bars shall be times
i o r of the en olt.

the nominal diamete _
. , YD
dreré st wee % SffEd ST W
Ll
% €3 D4
method, if a

|
(B) 2
For working stress .
rectangular beam 300 X 400 carries an
axial tension of 300 kN. Calculate the
value of tensile stress in it.
Y % fe, afy we
300 x 400 W 300 kN T gaﬁa
a1 sfeere
ST RIRT | o
(B) 5.3 N/mm?
E:C), 25N/mm? (D) 2.6 N/mm?
ompressibility is the recipro
(A) capillari'gry reciprocal of the
(B) bulk modulus of elasticity
(C) viscosity
(D) surface tension

[ET:Co] ‘
@) TR 7

(B) Sreameya atrre Wi
(C) W '
(D) PLEEIC]

I |

fthe ISA 100 x 65 x 8 is used for tension

" . mm |

Whn:f%cll l])eg using a welded ggnn?ct'the

A ¢ the shear lag width 2 =
ISA 100 x 6

5 x 8 %, e
mﬂr?{g?gamm“loo mmﬁﬁgﬂz’r
& o e

70 mm
8 B) 100
g §D§ 65 n:Tr;qm



N

he network of "

:@‘W A
» L aindi Thd ~ ot )
Ty %ﬂ be &:“ a poeosity o ‘Q"‘m“ . Find the h\ml d\\l&n‘\“f“ otk hown in
e ‘:5 ;@ %“Nt of voul l;‘:; A a construction PrUes
Ay n ™ w40 figure. -
g;é} 0 TN WIRm Mﬁ&ummﬂ*ﬁ“i"‘mﬁm*
The 0667 (8) 0 Yeraeh o et v T A
A poin | PPOrRd b Qaming
% Momeny “ (P) has maxmum @"T‘Q
e ¥R (p ﬁ,_semmer » .
) ey by wRem W @) Tdplr @ dayv A
(C) ¢ g N (C) 29 dawy (D) 21 dayy
Pl (B) P14 60. On it 18 possible to measure
A milg (D) P12 . 3_....:_,,_._,-\“‘51\\\"‘? \ 51-
80 Steel bar has B three _ dimensions  such A  meles,
0_089““ and g ) Stuge length of decimeters and centimetres.
= MM, find the serac elongation is (A) plain seale (B) verier scale
m‘ﬁ‘mg‘gﬁ *n produced in it (C) scale of chords (D) diagonal seale
ﬁ?ga: 5 SR, OS“M“’W 30 fit} ® ), ' WAy,
@A TR, &, = = Al K WO W W EE R
e » W W (@) i
(©) 010 (D) 0.01 (©) e W AITF(D) Frwet W
A S (D) 0.001 6L. The cquation of T \
dh density of a loose soil m:mnm\m Toughness index is
T v R R w1 o ¥
(A) 15-35% t (A) 12y B) L.
(B) 40- 60% - B) I
(C) 0-5% ) 40-60% » (OWN g
(D) 10 - 12% D) L
The specific - e it 62.  Fora cantilever beam as s \ .
ol nis i 0557, what will bk fndthe Bending Momentar
of dry S will be the value qq;m_m%'\%q Q:Tﬂtat.\, ‘
fidiw AR TR, A RE I & R 3 R
TR 2.70 @ SR i v NN &{?\@mw} l
0.667 2, =5 57 ¥ T2 W _ NN 3w
(A) 16KN/m®  (B) 1445w | A 4
(© 14Nm® (D) BN
;{’:;15 ahy—%f (A;u.:‘ T A B
\} destructive distillation of asphal -1867kN VU
(B) destructive distillation of g (C) ¥ m\m B) -7} f:_*;‘
Ve (RSITASNR OF Mg | m N.m
(C) destructive distillation of bitume, fﬁ ) (D) <158 kN
- ve distillati : i Ita simply e L!\m
®) edistllaionofend | Camies & po e dam of ¢
WS- [ e ¥ Point lagg of 5 of 6 m span
(AY TS T S Valte of Reaction gy O Ctkeul
® oo NS | Wenfegh o forpe | eulate
© a;,aﬁi zmm %wg%mmmh} R S0k
®) ~ N C VIS 1Y hal T
i (C) RN -
g o o kN
'} M kN



64.

6S.

66.

67.

68.

1672

ThemtErm . )
Of mortar Jormrs in, LPLcd t0 the finishing

(A) pointine T Masonry.
(©) centerifg (B) plastering

(B) Tem=R
(D) dfén

What wil] b, shape of S.F Diagram of 4

SIMply support .
centra] poli)gt 10‘;‘31 li’)egm of span | carrying

R P S et e | )

%ﬁs?'ﬁé“' % S F o #1 19w o7

(A) % mf Point of zero shear
T

®)* p—

-

wl |
© [\er\

P

2] il Point of zero shear
0 e

In AutoCAD, the command Ctrl + Q is -
used for o
(A) Exit (B) Object
(C) Open drawing (D) Plot dialog box

TO1%hs |, Ctrl + Q TS T SN FohaT STl

oo

(B) 3Hfeaae & forg

(€) g F M

iy it B d creates
toCAD, _ comman

f:lluﬁil;nl(c)a copies of objects in a pa;?titem,aﬁ

FAIHS 4, FuTe T Jed § TG
it T € | |

f&)ﬁLIGN ggg gII%QX;ER

i o i S method, for
crete mix design b)fI 1 i

z?) COnm nominal maximuim :

m

- .
aggregate he M0 Gy fomed 7
i ffdl S0 S0 e 3 frer
40%% 3 i

3 forg Fferd 186 kg

(A) 208K8 (D) 180ke

(C) 165 kg

as ingredients of ordinary

1
69. ft% imparts

70.

o

72.

B

Q‘eﬂageﬂgﬁh to the cement.

(*)° Jour t0 the cement.

(B) c;;sticity to the cement.

'(C) P ick setting property to thfe cement.
®) qug‘-‘rﬁz & gt &% w9 H

) e i
The defects that are indicated by the

cyrvature formed in the direction of
lcengfh of timber is called

(A‘)/fwist (B)-‘ Check

(C) Bow (D). Warp

<t 1 TS <hY faE H & ATl sk

I A9 THE B &, A HEAd B

(A) @
© 4

The carbon content of medium carbon
steel is about

TR T AT ShT TS STST TN 2
(4) 025% - 0.60%

(€) <0.059

(D).O_lo%_025%

(B) Wfodg we@d

(D) HaeH

he Pre-existing rock ?

orphic rocks



73.

74,

75.

76.

tIr)raWing Operation involved mechamcal
(zatlnent Of steel is carried 0Ut
) by I'€peated blows unﬂeii a power
% '© &et article of desired SHaPe:
(D 10 prepare angles, channels, ﬂats, etc.
) FO reduce the cross- seﬁﬁon 816 to
Crease the length proportionately.
@a a; q'i%* ¢ p P -
S A vt g S TReH
15531 e ‘

() T 31 2oty s s A AT

SRR #3 | :

(B) ST S11ahT ot g e A 35 R |

©) g;ﬁ S, W 7R R
| |

(D) T~ ) s ) SRS 5 0
9§ W % foe |

The purpose of ___ testisto detect the

Presence of uncombined lime in cement:

(A) consistency (B) soundness

(©) fineness - (D) setting time

T T 3t Hie § sy .

H R HT ooy

(A) FEaT (B) Feifyan

(C) q&wa (D) STERATYH HTeA

A good brick earth should contain about

(A) 20% to 30% of silica

(B) 2% to 3% of oxide of iron

(C) 30% to 35% of lime '

(D) 20% to 30% of a}umma

e 3=t S o1 T A e g =ifee

(A) 20% & 30% fferept

(B) i1z ¥ FTHIES F1 2% H 3%

(C) 30%@3S%TN

(D) TEEfH 1 20% H30%

rocess of burning limestone to

The pro tact with air is called
r;c;neczslgir; Zggn (B) slackcni.n.g

&) e D) hyamicy
éar 5 g B T TR A B
S 1 i FEdiy

o e (B) T

() T (D) RﬂﬂTﬁ‘ﬁm

10

77.

78.

179.

Give the full form of CPM :

(A) Construction Protocol Manager,,,
(B) Contractor Project Managemem
(C) Critical Path Method

(D) Construction Project Manager

(A) R TR AT

(B) FIRH NN FITHE

(C) 3hifeshet Tl AUg |

(D) FEHMA TS IR

Fixed indirect - cost of any project
includes

(A) overheads on office.

(B) interest on capitals.

(C) supervision and amenities.

(D) royalties and license fees.

foreft off afterern it Pt sTere @mra o
e E

(A) SR T ITNT

(B) Tt W=

(C) wiaeor 3k glerumd
(D) Taedt 3R &g Yok

The vehicle ingredients of an oil paint is
used

(A) to accelerate the process of drying.
(B) to form the bulk of a paint.

(C) to hold the ingredients of a paint in
liquid suspension.

(D) to make the paint thin.

Teh A3 Ye o HTeay w7 3ot feal

EIGIE

(A) FET ot wiskar & Ff @y & foru |

(B) T U2 % 3Taaw v % fou |

(C) Wt Freaa o ¥z % wami % a0 &
fom |

(D) Y2 ! Idqel w3 3 foru |
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81.

82.

. 15 the .
required tq € Minimyp, POssib)
€

Comnli
(A) Most likely Tri)xl];ih an activity,

(B) Pessimiqt;

Yimistic Tj
(g) Optimistic Ti::::
( ) EXPCCted t]me

time

. ll:l}(li quipment is used to Jeye| the
and spread the Joose material?

(A) Bulldozer (B

. ) Grad
% I;r;glme (D) Po:veerrshovel

quad 1 IR & arh

%o % fore e swsr &1 35 fe
EIGINA] , '
(A) FABIH (B) et
(C) g (D) T
Lag time is the

ZX) earliest time by which a successor
event can follow a specific PERT

event.

(B) time performing m
activities in parallel.

(C) measure of the excess
resources available.

(D) time by which an event prec

ore critical
time &

eded by

it must'3 be completed.

qFEd] HTA

(A) S ﬁﬁm@m@
e TF drdzmedl (7) T

8s.

86.

() N/mm

(A) N/m (D) kef/m

(C) mm
Vacuum
pressure below the

(A) gauge pressure

(B) atmospheric pressure
(C) zero pressure line
(D) absolute pressure
frata gara i EEICER-CICE R
3 wfnfiva e ST 2 |

(A) N @ (B) IRHEE g

(C) @A @ (D) I qErE

During the working of crane, th
. ( , el
operation is used for ’ o :

(B) ‘moving the boom in arc.

(C) lowerin
g th :
destination st pouIE o

(D) raisin th
3 g the load from its position,

mmmhaﬁw ™

i | N I A
t %Y
m%ﬁmﬁm |

b



87.

88.

89.

90.

91.

- (D) 1 &t & 4 Feea

: =
quipotentig) line is a lin® along Which

) saocity potentialis
inj 2 i
(Vs ty (B) ative

NStant (D) neg
Hafag m% AR
B) T

(A) g
ce used for mAUMINE the

The dey;
velocity of flow at any point in & Plpe op

channels is

venturimeter (B) pitol tube
(D) orificemeter

RGRIE AT % 3
T % R g TS

®) fe @
(D) HEE e

Cipoletti weir has side slopes of
(A) 1 horizontal to 2 vertical
(B) 1 horizontal to 8 vertical
(C) 1 horizontal to 6 vertical
(D) 1 horizontal to 4 vertical
It frem 3 ured wavm @
(A) 1 &fes | 2 e

(B) 1 &few & 8 qwaa

(C) 1 &I | 6 Awaa

1 sq.m. is equal to

(A) 9 sq. feet (B) 1.196 sq. yards
(C) 10.76s

. yards %)) 1296 sq. inches
1 Tl Fh S

(A) 9 e (B) 1.196 =t 7t
(C) 1076 T T (D) 1296 i %

The flow in which the velocity at any

given time does not change with respect
to space i8 called as

(A) uniform flow
(B) non-uniform flow
(C) unsteady flow
(D) steady flow

92.

93.

94,

95.

96.

. h LY : ’\x t‘ran]e ( '

it theodolites the 'mdcof‘ ! wm’f}‘

T tFde frame consisting erticy|
T-shaped 1€

l'%is nown a3
(A)

index arm (B) clipping arm
i :

(C) vernier a.rmﬁ Sg%){ é:;l;i‘p a;cgtvm
%ﬁ%ﬁaﬁ@é&mﬁtmg,mw

¥ < e 8 o ol
ot (B) R
(A) e D) ¥

(C) affer o

is a relatively permanent point
of reference whose elevation w.r.t. some
assumed datum is known.
(A) Mean Sea Level (B) Ground Level
(C) Level Line (D) Bench Mark
_ o anepa e v foig @ v
TS ARG 3¢ S Tey A ST R |
(A) mer T (B) W ad
(C) a& (D) &9 AT
The contour interval should be
(A) infinity

(B) directly proportional to the scale

(C) inversely proportional to the scale
(D) zero

T A BT ATRT

(A) 3

(B) YT & HWIUTIoe
(C) YT % SghATTTR
(D) =

The angle between the zenith and the
celestial equator is called

(A) latitude (B) azimuth

(®) lpngitude (D) altitude

rafig ofk wiefa frgeegm % s &
10T I HET T R
A B) fiw
The engineer chain used for chain survey
is 1on%.;
gﬁw % R v & amy ae
i} 1Y
(A) 33 & (B) 66 fi
© 100 ft D) 15 m
102



97.

98.

99.

100.

(A) 396
~(C) 385

101,

.-Hﬁwaﬁ@@ﬁﬁ B S
ik (B) 2
Nl (D) 0

AT |

102,
HIeE T T STHT A 8

oy

In drawing
phase dla am, the tvaiats
air is assumed to be &t e weight of

In ISCS, the symbol used for st type of
soil is

ISCS ¥, e yom i fdt %
(4) C B) M

The modulus of elasticity of concrete can
be assumed as as per IS 456-
2000.

W 456-2000 % IFER Fohle
ACIRAATHAIS A1 S Eeha g |

(A) E=500vfck
(B) E.=0.5Vfck
(C) Eq=5000fck
(D) E=2000vfck

For a well graded soil, co-efficient of
curvature must be between

(A) 3to6 (B) 1to3

(C) 3to 5 (D) 5to 10

e gorft gl % fora, apen T
& ot g =1fe |

(B) 1493

(D) 5810

Calculate the value of F lexural strength
of M20 grade concrete.
M20 ¥g hie % A

(B) 3.5 N/mm?

(A) 5 N/mm?
(D) 3.13 N/mm®

(C) 10 N/mm?
The size of field book is about

(A) 18cmx 12 cm (B) 12 cm x 22 om
(C) 12 cm x 24 cm (D) 20 cm x 12 cm

13

103, 1 which > 5Y°

e
i

104.

ad F AR |45

the water required for
upplied throughout the crop

1rr1gat10: o reqmrements ?
period 2 ¥ - rrigation
A) Per?? Irrl gation

(B) Di ire¢ ation
(C) ﬁngr ug n Irrigation
(D) I W%WWW@

m%aﬁmm%
LA e?
(A)Wﬁaré

(c) 3?911"'

(B) dref =g
(D) 3erad fo=ms

ooding method, the farm
a series of strips

(A) 8m 0 15mw1de&50mto 100m

(B): ll%ngm to 20 m wide & 100 m to 300

m long.
(C) 20m to 30 m w1de & 300 m to 400

m long
(D) 5mto 10 m wide & 50 m to 100 m

long

Pﬂwqﬁmﬁﬁﬁ Ga &l ufEE i

T A  feiore fema Strar

(A) 8H R 15 e <t afk 50 Hex &
100 ¥iex et

(B) 10 He 3 20 1oy
+ AN =gt 3k 100 Hiex

(C) 20 ey 3
@{400%30%3?@@1300%

D) 5= 1,
IOOIﬂR

specnnen :
diamete,
©2 ) 2 s lm

HIE et 3tk 50 wier

pressmn test, the length of
ept abo_ut its

—

ll‘n Meg (B) 1 to 1.5 times

% D) 1.5t02 times
(A) 1§W W?{;&?ﬁmm
© 23, 25 o~ St e )
(D) 1.5@23?1
+



represents
o I():)‘me time that & .crop
sowing to harvesting -
(B) the total depth of W8

a crop o o o of
(C) the in'igating capacity

water ¢ ulti\’“tion
(D) the whole period of ¢
# (Duty) v uﬁrﬁmﬁ““:; ‘Y
(A) T ST W

(B) @w%mwmﬁ%
RIS

(©) T e e oy et 60
(D) T 5 arfy -
107. __are sown in autumn & harvested
~ in spring, |
(A) Rabi Crops
(B) Perennial crops
(C) Eight months crop
Kharif crops »
e 35 3 R et & K
G5 HIA A E |
(A) Wowm
(B) 99 wge
(C) 3113 7 it v
(D) &% woe

In Kennedy’s theory, the value of
constant ‘C’ ‘for coarse silt is

akes from

required by

108,

< Rrga RIS T 3 e, R
tC’mm% :
(A) 0.65 (B) 0.59
- (C) 0.53 (D) 0.70 e
109. By turning the pipes through _ the

entire width of 1

5 metres betweeﬁ the
pipe lines can be

irrigated in the fixed

nozzle pipe system
© I8 chgme ) 4 dege

_ e
TR 2w, v &
w1 15 e it %! g e
e firm  Rif R 1 v
(A) 60 Tt (B) 45 fify
(C) '180 fh (D) 135 fizp

[110,

111,

14

(D)

112,

For getting good brick bonds,
of lap should be minimum
the length of the wall. ‘
A) 1/2 brick (B) 1 brick
(C) 2 bricks (D) 1/4 brick

mmmmm%mwﬁ
i

the amoyy,
nlong

&am-mwﬁwwm\
Bt iy |

A) 124 B) 1%

©) 28 (D) 1/4¥
Englifsh-bond

I Which al] the bricks
headerg on the faces of wall,
B) ¢o

nsists of alternate courses of
caders and stretchers,

(©) is useq Where bricks of different
 thicknegs gre used,

in which g the bricks are laid ag
strptchers on the faces of wall,

(A) Tt mf
%y

are laid ag

iﬁﬂ»‘rm%‘mﬂﬁwm

The floors supported above the grourd
level are called

(A) ground floor

(B) solid floors

(C) suspended floors

(D) sub-floor

s S i Ay

(4) S ERE  (B) 3 (%)
C) Fefmell (D) 39-uifre
: il A 2 " ‘ d i
1, i i s o
i B
: T HHae 78 T L
LR

102 %
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114
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115.

116.

102

Trestle scaffolding ig uséd for

(A) repair works such a
painting,

(B) painting and repajr works ins;
room upto a height of sms. e the

(C) brick laying.

(D) the construction of up

0! TEH F 3@ peria%‘;“é};

IR |

(A) 7T SR Wi stk

(B) FR 3 3T S Wex ot erd s o
3R Fog we

(C) % fosm

(D) R It ford w1 iy

Find the incorrect statement.
A good formwork

$ pointing ang

—

(A) should be water proof so that it does:

not absorb water from concrete.

(B) should be strong enough
withstand all loads.

(C) surface should be rough.
(D) should be suitable for re-use several
times.

TTeTd Y 1 T Y | |
T =01 Hifah o
(A) VereE BT ST a1 9§ e
Tt w1 SR T | ,
(B) & Wi 1 G H & fore v
B | |

LEE !
(C) W Geeh g =ee |
(D) :EW: I % R 3T E
i

to

The process of placing a new foundation

under an existing one is called

(A) shoring of foundations

(B) shuttering of foundations
(C) scaffolding of foundations

1]7, As pCf I

118.

119.

120.

g method for concrete m;y
o he standard deviation for M3
esigily

grade of coﬂcreteﬁi;; fere smdum wafy &
%ﬁ%ﬁmmﬁg%mqm
ﬁam’? (B) 5

3 ,
gé)) 3 (D) 3.5

method for concrete mix design,
?S pezrlf decrease of w/c by 0.05,
(gf)e;'he coarse aggregate volume may be
7 icreased by 1%.
(B) the fine aggregate volume may be
increased by 2%.
(C) the fine aggregate volume may be
increased by 1%. -~ .

D) the coarse aggregate volume may be
& increased by 2% '

B R R T

AR, wie I e 0.05 e B forg -,

(A) e P 7T & 1% Y gfg
wH e | |

(B) gmﬁmmtrmﬁz%@r SHI
. EEiR 1

© :}%gmwm%ﬁq&mm
g i S

(D) e et wn 204
kit /ﬁq&ﬁm

C'fxlculate the value of X max for a beam
:1”51212?)(())(()) nngeffective depth as per IS
~ » 10r Fe 2 \ :
Fe 250 33 g 50 grade steel bars,
2000 %
% x
Umay
ol M B
(©) 245 gt
For hang ) 260 min

, Co :
layer of ¢, mpaPtlon, the thickness of

underpinning of foundations (A) 104, Tete ig limited to
(QI;). Ry mmRE @R | O gogﬁgfcm (B) 15 cm t0 20 em
St Y AR mmqw%zcn}(b) 5cmto 10 cm
ity ANl ﬁm%»Wﬁmﬁm
B) i i TETE (®) Loy 8
o i ©) 20%1}25%@) 15 9t & 20 Soft
(D) a1 T —5 § Y¥0 (D) 5 202 103
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